Blindaufgaben

Blatt Nr. 13

Aufgabe 1
Weil3 am Zuge

Weil3: Kf4, Lf5, Bb6, 3, g2
Schwarz: Kh4, Lb7, Bc6, f6, h6

Aufgabe 2
Schwarz am Zuge

Weil3: Khl, Lgl, Bd7, g4, h3
Schwarz: Kg7, Lc4, Sd2, Ba6, e7, e5, f4, g5, h6

Aufgabe 3
Weil3 am Zuge

Weil3: Kg2, Df3, Tcl, Ld5, Lh6, Ba2, g3, h2
Schwarz: Kg8, Dbé6, Tf8, Lg7, Ba7, e7, f7, g6, h7

Aufgabe 4
Weil3 am Zuge

Weil3: Kgl, Dh6, Te7, Tel, Ld3, Lg5, Ba2, b2, c2,d2, h2
Schwarz: Kg8, Dd6, Ta8, Tf8, Lc8, Ld4, Ba7, c5, 15,96, h7

Aufgabe 5
Weil3 am Zuge

WeiR: Kgl, Df3, Tf1, Th5, Lf5, Ba2, b3, c4, f2, d®
Schwarz: Kg8, Df6, Td8, Tf8, Lb2, Le6, Ba7, b7, £6,97

Aufgabe 6
Schwarz am Zuge

Stellung nach den Zigen 1.e4 e5 2.5f3 Sc6 3.d4 £8id4 Sf6 5.Sxc6 bxc6 6.e5 De7
7.De2 Sd5 8.c4 Sb6 9.S5c3 De6 10.De4 g6 11.Le2 A4 d5 13.exd6

Weil3: Kel, De4, Tal, Thil, Le2, Lf4, Sc3, Ba2, b2,ds6, 2, g2, h2
Schwarz: Ke8, De6, Ta8, Th8, Lc8, Lg7, Sb6, Ba7c67f7, g6, h7



